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IBPS CLERK

. What should come in place of the

quesuons mark (7)Iin itnertolowing

letter series?

1. In a certain ende ‘TFRMINAL’ is AC FG 1K MO ?
written as ‘NSFIIMRO.’ and (1) PR (?) 0S
Hoyn & DEATREL WiktidanLo topt code? '"ERIDOR related to '@RMRIS in the same
(1) FUBN (2) UFNB way as 'RIPE'is related to ?
(3) BNFU (4) BNDS (1) EPIR (2) PERI
(5) None of these (3) EPRI (4) PEIR
The positions of how many digits in (5) IPRE

the niimher 5314647 will remain
iinchanaed after the diaits are

rearranaed in ascendina order within

How manv meaninaful Fnalish words
can hemadewith thethird_thefifths.
theseventh and theninth letters of the

tf19 nroher? (2) One letien anyvonce ~MEaEmW i a each
(3) Two (4) Three (1) None (2) One
(5) Mare than three (3) Two (4) Three

(5) Mare than three

In each question below, a group of digitssymbols is given by four combinations
6-10. Oof letters numbered (1), (2), (3) and (4). You have to find out which of the

combinations (1), (2), (3) and (4) correctly represents the group of digitsSymbols
based on the following coding system and the conditions those follow and mark

REACRYH@PSeIeIs A IstomPsoA s aits Ambal st ke (61 tige (DN ARG 0AS

the answer.

DigitSymbol : 5 9 @ © 3 8 1 $ % 4 2 x 7 5 #
LetterCode : B E P A K D F HQI RJ UMV T
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Conditions: (i)

11-15.

If the first unit in the
aroiin is an even diait and
the last 1init is A svmhol.
hoth these are to he coded
asthecodeforthesvmhol.
(iil If the first nunit in the
aroiin is an odd diait and
the last 11nit is an even
diait their codes areto the
interchanaed.

If hoth the first and the
last 11nits in the aroin are

(iii)

svmhols. hoth these are tn
he coded as X"

@91%$26
(1) JEFHRP (2) PEFHRP
(3) XEFHRX (4) PEFHRJ
(5) None of these

387#99

(1) KMDTAE (2) KDMATE
(3) EDMTAK (4) KDMTAK
(5) None of these

4@312

(1) VPKFRV (2) VPKFRI
(3) XPKFRX (4) IPKFRV
(5) None of these

%4187*

(1) QIFDMU (2) UIFDMQ
(3) XIFDM X (4) UIFDM U
(5) None of these

91240 6

(1) EFRIVJ (2) FRIVE
(3) EFRIVE (4) XFRIVX

(5) None of these

In the following questions, the
symbols, %, *, $ and © are used with
the following meaning as illustrated

below:

'P % Q" means 'P is not smaller than Q'

P Q' means 'P is neither areater than nor
eanal ton Q"

'P A'means 'Pis neither smaller than nor
eanal ton Q"

'P $ 0" means 'P is neither areater than nor
smaller than Q"
'P © Q' means 'Pis not greater than Q".
N

ow in each of the followina anlestions
Aassiimina the aiven statements tn he trile
find which of the two concliisions | and 11
aiven helow them is/are definitelv truea?

Give answer (1) ifanlv Conclusion listriie.

Give answer (?) if anlv Conclusion Il is
true.

Give answer (3) if either Conclusion | or |11
istrue

Give answer (4) if neither Conclusion | nar
Il istruie

Give answer (5) if hoth Concluisions | and

11. Statementd! Are trigeg T
T%M,

M *J

Conclusions :1.J D
.M © D
R %K,
K$N,
N %R
Conclusions :1. R$ K
II.R*K
H % F,
F*W,
WS$E

12. Statements

13. Statements
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Conclusions ffidieRt fH Answer the

auestiprq W
Gi1v4a.. an%g{e%éntg th? d?aanijyen in hath
the statement | & |l

tnnetherD:ar(g Kht ainfficient
to answ er the alrestion.
Give anstopanHgori]Pth:c-*le'r’VIat;[?n hoth the
staterledts K& 11 toaether
15. Statementsre riecd¥<® B.to answer

the auedqtjog.-B,
NOF

Conclusions :|I.F B
. W xN

16-20. Study the following information

carefully and answer the question
given below:

PTVRM D KandW aresittina aroiind
Aacirailar tahlefacina the center_\V issecond
to theleft of T. Tisfourth to theriaht of M _
D and P are not immediate neiahhoiirs of
T D isthird to theriaht of P W is not an
immediate neiahhoiir of P. P is to the
immediate left of K.

16. Who is second to the left of K?
(1 p ()R
(3) M (4)w
(5) Datainadequate
17. Who isto the immediate left of V?
(1) D )M
3) w
(4) Datainadequate
(5) None of these
18. Who is third to the right of V?
(1 T (2) K
3) P (4) M
(5) None of these

19.

20.

21-25.

Give answer (1)

What is R's positions with respect to
V?

(1) Third to theright

(2) Fifth to the right

(3) Third to the left

(4) Second to the left

(5) Fourth to the left

Four of thefollowing five are alike in
acertain way based on their positions

in theabove seating arrangement and
so form a group. Which of the

following does not belong to that
group?

(1) Dw (2)TP
(3) VM (4)RD
(5) KR

Each of the following below consists
of a question and two statements
numbered I and II below it. You have
to decide whether the data provided
in the statements are sufficient to

answer the question. Read both the
statements and

if the data in statement |
alone are sifficient tn
answ er the ailestion w hile
the data in statement |l
alone are not sifficient to

IBPSCLERK answ er the allestion.

Give answer (?)

Give answer (3) if

21.

if the data in statement 11
alone are sifficient to
answ er the ailestion w hile
the data in statement |
alone are not anfficient to
answ er the aiestion.

the data either in
statement | alone or in
statement Il alone a

from Village T?
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22. On which day in July was definitely
Mohan's mother's birthday?

23. How

24. How

isD related to M ?

is 'near’ written in a code

language?

to, the Saith of

| illage P.ig )
score\é ditférent' maPksif ah exam,

who

?5.

A4 228 MaAHb YoUe Risrkahe

West Villane T.

Villane K istn the Fast of Villaae
M and Villaae K is to the N orth
of Villaae T

M ohan correctlv remem hers that
his mother's hirthdav is hefare
eiahteenth hiit after twelfth (hilv.
M ohan's sister carrectlv
remembhers that their mother's
hirthdav is after fifteenth hut

hefare nineteenth .hilv.

K and D are onlv sister of R.
M is married to R's father.

‘a0 near thetree' iswritten as 'sa
na nata'isthat code lanauaane.
. . - .

tree is near home' is written as
that code

'ia na da sa' in

lanaiane.

AmonaA_R.C..D and F. each havinan

I. D has scored more marks than
onlv three of them_
II. A has scored more marks than

onlv F_
26-30. Study the following information

carefully and answer the given
questions:

A waord and niimher arranaement machine
when aiven an inniut line of words and
niimhers rearranaes them followina a
narticiilar riile in each sten. The followina
is an illustration nf innut and
rearranaement_ (All the niimhers are tw o-

diait niimhers.)

Input : pink for 25 72 white jar 12 96

Step | 96 pink for 25 72 white jar 12
Step 1 96 for pink 25 72 white jar 12
Step 111 96 for 72 pink 25 white jar 12
Step IV 96 for 72 jar pink 25 white 12
Step V 96 for 72 jar 25 pink white 12
Step VI 96 for 72 jar 25 pink 12 white

and Sten VI is the last sten of the
rearranaement as the desired
arranaement is reached.

As ner the riiles followed in the
ahove stens find ot in each of the
the
annronriate sten for the aiven

followina anestions

innut. (All the niimhers are tw n-

26. Inpiti S Bllure 61 53 new cost

27

How many steps will be required to
complete the rearrangement?

(1) six (2) Seven

(3) Five (4) Four
(5) None of these
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27.

28.

29.

30.

Step II of and Input: 84 ask quit these
3912 old 51

KLhirdiafthefollowina will definitalv

(1) quit these 3912 old 84 ask 51
(2) quit these 3912 old 51 84 ask
(3) quit 84 these ask 39 12 old 51
(4) Cannot be determined

(5) None of these

Step III of an Input: 63 bed 58 never
go home 46 28

How many more steps will
required to complete
rearrangement?

(1) Four

(2) Three

(3) Five

(4) Six

(5) None of these

Input: rows 25 columns 39 46 fear star
72

Which of the following steps will be
the last but one?
1) v

3) VI

(4) VIl

(5) None of these

Input: ordinary 47 tablet 36 dry 91 32
handle

be
the

(2) VI

Which of the following will be the
Step VI?

(1) 91drv 47 handle 36 3?2 ardinarv
tahlet
91 drv 47 handle 36 ardinarv 3?
tahlet
91 drv 47 handle 36 ardinarv

tahlet 32

()

(3)

(4) Therewill be no such step
(5) None of these

31-35. Study the following information

and answer the questions given
below:

A R C. D F Fand G areseen nitmher of a
clith. Fach of them like one dav of the week
viz. Mondav. Tiesdav. Wednesdav
Thursdav Fridav Satiirdav and Siindav. not
necessarilv in thesonme arder. Fach of them
owns a different car tvne viz. Swift. Altn.
Fino Reat SX4 Fstillo and Ontra not

necessarilv in the same arder.

C. likes Wednesdav and his favaiirite car in
neither SX4 nor Ontra  F does not like
Mondav and his favoiirite car is Reat. The
favolirite car isthe one whao likes Fridav is
Finan. The nne whose favarite car is Fstilln
likes Tiiesdav. D likes Satiirdav and ND's
favaurite car is no SX4. G3's favaurrite car is

Allgy F iR TN B el e i

1) A
(2) B
(3) D
(4) Data inadequate
(5) None of these

32. Whose favourite car is Figo?
1) A
(2) B
3) F (4)C
(5) None of these

33. Who among them likes Sunday?
1) A (2) C
(3) F (4)E
(5) Datainadequate
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34.

35.

36-40.

Give answer (1) if

Give answer (?)

Give answer (3)

Give answer (4)

Give answer (5)

36.

Who favourite car is SX47?
(1) B (2) A
(3) F
(5) None of these

Which of the following combinations
is correct?

(1) F-Thursday - Estillo
(2) C -Wednesday - Alto
(3) D - Saturday - Beat
(4) G -Monday - Swift
(5) All areincorrect

In each question below are two
statements followed by two
conclusions numbered I and II. You
have to take the two given
statements to be true even if they
seem to be at variance from
commonly known facts and then
decide which of the
conclusion logically follows from the
given statements disregarding
commonly known facts.

onlv conclusion |
follow s.
if onlv
follow s.
if either conclusion | or 11
follow s.

if neither conclusion | nor
Il follow s.

if hoth concliisions | and 11
follow.

Statements Some trees are

hiishes. All

flow ers are

hiishes.
Conclusions :1. Atleast some

(4)D 37.

38.

given 39.

conclusion 11 0.

bushes are trees.

|

I Atleast some
flow ers are trees.

Statements All colonirs are
naints. No naintis

a hriish.
Concluisions  : 1. Atleast some
hriishes are

colours.
Il_ No bhriush is a

colour

Statements Some chemicals

are nraanics. All

oraanics are

fertilizers.
Concliisions 1. Atleast some

fertilizers are

chemicrals.
I1_All fertilizers are
oraanics
Statements N o air is solid.
Some snlid s are
liniids.

Concliisions 1. No liauid is air.

Il.Some airs are
definitelv not
liaids.

Statements All aems Aare
diamonds. All
diamonds are
rocks.

Concliisions 1. Atleast some
rocks are aems.

In_All aems Aare
rocks.

41-50. In each of the questions given below

which one of the five answer figures
on the right should come after the
problem figures on the left, if the
sequence were continued?
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4.

42.

43.

44.

45.

46.

47.

48.

AN SWERS FIGURES
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